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QUESTION 1

Which two components are required from the Cisco Intersight REST API Authentication? (Choose two.) 

A. SHA256 hash of the message body and message headers. 

B. SHA256 hash of the message body, including empty message bodies. 

C. RSA private key with a key size of 2048. 

D. RSA private key with a key size of 1024. 

E. SHA384 hash of the message body, excluding empty message bodies. 

Correct Answer: AC 

Reference: https://documenter.getpostman.com/view/30210/SVfWN6Yc?version=latest
https://github.com/ansible/ansible/pull/51309/files/a68de94464ad34b4e6836f86662ef0ba6060a2e 

 

QUESTION 2

DRAG DROP 

Drag and drop the code to complete an Ansible playbook that creates a new tenant. Not all options are used. 

Select and Place: 
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Correct Answer: 
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Reference: https://docs.ansible.com/ansible/2.4/aci_tenant_module.html 

 

QUESTION 3

What are two differences between SNMP and model-driven telemetry? (Choose two.) 

A. SNMP uses a continuous stream model. 

B. SNMP uses a push model. 

C. SNMP uses a pull model. 

D. Model-driven telemetry uses a pull model. 

E. Model-driven telemetry uses a push model. 

Correct Answer: CE 
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Reference: 

https://blogs.cisco.com/developer/its-time-to-move-away-from-snmp-and-cli-and-use-model-driventelemetry#:~:text=SN
MP%20uses%20the%20pull%20model%20when%20retrieving%20data%20from%20a%20switch.andtext=SNMP%20al
so%20uses%20push%20model,limits%20like%20scale%20and%20efficiency. 

 

QUESTION 4

Refer to the exhibit. 

Which two statements are true about this API GET request to the ACI APIC? (Choose two.) 

A. The API call creates a new 10G interface in the APIC. 

B. The API call reads information from a managed object. 

C. The API response is encoded in JSON. 

D. The API call reads information from an object class. 

E. The API response is encoded in XML. 

Correct Answer: CE 

https://aci-prog-lab.ciscolive.com/lab/pod9/api/api_tree 

 

QUESTION 5

Refer to the exhibit. 

What results from the EEM script that runs on a Cisco Nexus 9000 switch? 

A. Module 1 is reloaded if one of the specified console patterns occurs within 120 seconds. 

B. Module 1 is reloaded if one of the specified syslog patterns occurs within 120 seconds. 

C. Module 1 is reloaded if all of the specified syslog patterns occur within 120 seconds. 

D. The message "reload module 1" is printed if one of the specified syslog patterns occurs within 120 seconds 
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Correct Answer: D 
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